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Psychology
Paper 1II

e ICRIE
gyatrent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : AT GLAYehd THUT IR (100) Tgaart Ted fored oTed. Jciesh Jemen & (2)
U1 3Ted. @d U Wred.

1. If a researcher is interested in | 1. SR Us TeIYe SHI 9 Yes0dral o AT

finding the relationship between .
HEHY A YROTH ST, TN

height and running speed of

3® 3T, R UG fIeeivuEe! hivrdt

participants by eliminating the
influence of age, then which method Igd Irg ol ?

would be appropriate for data

analysis ? (A) fEe@T=1 Rho

(A) Spearman’s Rho (B) fgoroft weaay
(B) Biserial Correlation

(C) sgfay weday
(C) Multiple Correlation

(D) Af¥Ter Hegay
(D) Partial Correlation

3 [P.T.O.



............... is an optical illusion of
perceiving a series of still images as
moving when viewed in a rapid

succession.

(A) Isomorphism
(B) Phi phenomena
(C) Apparent motion
(D) Figure ground

Which of the following indices are
associated with General Aptitude

Test Battery (GATB) ?

(I) Cognitive

(IT) Behavioural

(IIT) Perceptual

(IV) Achievement potential.
Codes :

(A) (D and (I1I)

(B) (II) and (IV)

(C) (I) and (III)

(D) (I and (IV)

JUN - 13219/1I—A

Steg1 gftedm Avrn STed wfaH e

STIHAN IR & = STear=l

(A) HHTRdR

(B) I &
(C) T2 fequmd Tt
(D) SATFHA-gs3YHt

o

@elicideh! v fAdsnes GATB =

Ui TWefd STed 2

(1) SNEFATHS

(I1) =iATcHe

(I11) HgTHH
(IV) Hure fave
Hehdleh :

(A) (I) sufor (ID)
(B) (D) =wfor AV)
(C) (I) smfor (I10)

(D) (@) smfor IV)




Neuroglia perform the function of :
(A) Sensory impulse transmission
(B) Motor impulse transmission
(C) Chemical buffering

(D) Slowing nerve impulses

Which effect is found only with
recall and not with recognition

tasks ?

(A) Mood-dependent memory effect
(B) State-dependent memory effect
(C) Spacing effect

(D) Cue overload effect

The tests in Torrance Tests for
Creative Thinking can be scored

for :

(A) Fluency, Flexibility, Originality,
Differentness

(B) Fluency, Flexibility, Originality,

Elaboration

(C) Articulacy, Flexibility,

Originality, Differentness

(D) Novelty, Rarity, Differentness,

Domain-specificity

JUN - 13219/11—A
FARMYRUST & fohar IR ureand

(A) 9EfTer STEATT= HYHUl
(B) & AT YO0

(C) T IW (FEd HIR)

(D) <T@ T HHT RO

HIUTAT TROMH BT Hek JeTae T STTeedl;
Y T & TR/

(A) wafeerdt-stacet Tt aftoms
(B) feerdt-stacist et wiomm
(C) @ uRoms

(D) Heha SAfqwR aRom

T Goiel foamr=an A= et

UTehid hodl SIdd 2

(A) gagun, eltaehdl, o, T=

(B) gaqum, A e, Hoadl, GEHIGE]

(C) oTféeperd!, aafeenar, Headl, fa=Tar

(D) T&Har, gatvar, fua=ar, sHa-

fafersean

[P.T.O.



Torrance grouped the different
subtests of the Minnesota Tests of
Creative Thinking (MTCT) into
categories. Which of the following

represent the categories ?

(1) Verbal tasks using verbal

stimuli

(2) Verbal tasks using non-verbal

stimuli
(3) Non-verbal tasks

(4) Non-verbal tasks using non-

verbal stimuli
Codes :

(A) (2) and (4) only
(B) (2), (3) and (4) only
(C) (1), (3) and (4) only
(D) (1), (2) and (3) only

Psychologist who believed that the
most fundamental human motive is

striving for superiority is :
(A) Carl Rogers

(B) Carl Jung

(C) Karen Horney

(D) Alfred Adler

JUN - 13219/1I—A

g geiarers faer ==
(TH.2.91.3%) =t SR=ge fafaw
SYFEETE e faurt wEd @
IR hel. WATTdsh! shIv avfam

e gfaHfaeE .

(1) vifsss Sfegswi=r STAT FEA

Ifegeh T

(2) IWMfscer IETHRTET STAT FHEd

IMfeger T
(3) swNfssah &M

(4) IWMfscsr IETHRTET STAT FHEA

afeNfsgeh shrd
i
(A) ®aE (2) AT (4)

(B) ®e (2), (3) (0T (4)
(C) ®H (1), (3) 3T (4)
D) ®H (1), (2) 3T (3)

T ST ROT & Helid Jersd oo
e e faveard JTUm AEERTSE

(A) =1 TS
(B) =T g0
(C) & 7
(D) 3cHS T




Match List-I with List-II and select
the correct answer using codes given
below :

List I
(Behaviour)

(P) Unacceptable id impulses are
transformed

(Q) Movement from mature
behaviour to immature
behaviour

(R) To restrict undesirable id
impulses from reaching
consciousness

(S) Justification of behaviour
through the use of plausible
exceses

List II
(Concepts)
(1) Regression
(2) Rationalization
(3) Sublimation
(4) Repression
Codes :

P) Q@ @R (O
A & 1 @ Q)
B @ B @1 @
< @ @2 6 @
D & 1 @) @
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-1 3 ARI-1I & S[ea1 d @t
feeied Fehdiehlqd ard W feaer .

qrar-1
(ad)

(P) STE&RNIE 38H AT e

(Q) uRusa @d+ d sufiuga ad-TEl
HREI

(R) sNeaeo=id Gre=vardgT=a1 a1
SCH ATl Al

(S) ufafda ATR=A ITEFMER oM
gada

arer-11
(Hehea)
(1) YftwTEA
(2) fhem wweq
(3) ST
(4) Y THA
Hehdiah :

P) Q@ @® ©
Aa & @O @ @
B @ B 1 @
< @ @2 6 @
D & @O @ @

[P.T.O.



10.

11.

12.

The tendency to overemphasise
dispositional or personality based
explanations for behaviour observed
in others and under emphasising
situational explanations is called

(A) Action identification

(B) Observer effect

(C) Fundamental attribution error
(D) Self serving bias

Teacher in her class teaches : “A for
Apple” and each child says “A for
Apple; it is an example of ................

(A) Social learning
(B) Social cognition
(C) Social attitude
(D) Socialization

Which of the following alternatives
is true for the statements of
‘Assertion’ and ‘Reasoning’ ?

Assertion (A) : Psychosomatic
symptoms respond to psychotherapy.

Reason (R) : Physical symptoms
in psychosomatic disorders are not
based on organic pathology.

(A) (A) and (R) are both true and
(R) is the correct explanation
for (A)

(A) and (R) are both true but
(R) is not the correct
explanation for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(©)
(D)

10.

11.

12.
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RIS TSRO STeeiel Shi]
ST G-I ST FRIT0 THvamhial
TYETfeEe fohaT safadHamer Tenfia
ST TqLIHLOME el IeeT@ hOTA]
.............. 34_@. w.

(A) Fll ARTHIRI

(B) THierman afomy

(C) dryd TUIfeRIs YHG

(D) TW-VETRITIET 3T

Seg1 farfarent o ' T R 3f9er’’ fRreRad
9 Y I T R ST U, deal
AT Y FeElYd

(A) g 3719

(B) wrHIfSIes sieM

(C) wmHIfSTeR  3tfer

(D) FHSTHIT

‘faum' orfor ‘wron = fayumMES
EATTUeh! IOl T3 | 3T ?

N N

faam (A) : FARfes fo= AFET=
FHRA.

SHIOT (R) : FAICTE fopediaeiiel A
far Sifask FRUTHEE 319 wod TR

(A) (A) =7for (R) ® <R T 37T
3o (R) ® (A) & 3T TR0
3Te.

(B) (A) 1o (R) & <I=IEl T 3Ted
g (R) T (A) ¥ 3T IW A&

(C) ;%%w e g (R) § A

(D) (A) ¥ 3TA 3 g (R) & T
3R




13.

14.

15.

Which of the following is not a
correct way to manage cyber

bullying ?
(A) Inform police

(B) Pay no attention towards the

bullier
(C) Save evidence as proof
(D) Attack back the bullier
The place of worship of Buddhists
is :
(A) Vihara
(B) Sangama
(C) Stupa
(D) Chaitya

When did the UN General Assembly

announce 21st June as the

International Yoga Day ?
(A) 21st June, 2014
(B) 11th Dec., 2014
(C) 12th Dec., 2014

(D) 11th June, 2014

13.

14.

15.
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o 0N

e e

SFEATAT  HITITA

e ATer ?

eI CARE ARG
(A) iferErn wifgdt <0

(B) Tefiiise @& 7 <0

(C) YUel WA GUear™ S hiv

(D) TEER AFA Toal I

A= IUES TS

(A) Toer

(B) 9™

(C) wH
(D) =HA

T TS SEEH Fwef 21 S A
feaqren awrsea arm feaw v
Had ?

(A) 21 [, 2014
(B) 11 fedsr, 2014
(C) 12 fedR, 2014

(D) 11 S, 2014

[P.T.O.



Q. Nos 16 to 21 are based on
the following paragraph :

Read the following paragraph and
answer the five questions that

follow :

A researcher wanted to predict
creativity scores (n = 200) using
intelligence (measured by SPM, and
Cattell’s Culture Fair Test — CCF'T),
five domains of the big-five variables
(N, E, O, A and C), previous
participation in innovation training
(Participated/not participated). The
multiple regression analysis with
intercept term. The VIF for SPM is
4.2. The model R? = .65 and
Adjusted R? = .63. Model F statistics
was 44.89, P < .001. The significant
b values with SE in bracket are
CCFT = .83 (.07), N = — 0.34 (.08),
Openness = .42 (.06) and conscien-
tiousness = .23 (.08). Training
(participants coded as 1 and non-
participants coded as 0) was

insignificant.

JUN - 13219/11—A
U9 §E&AT 16 d 21 @reit faetear

yR=darer 3menfa g

qeiel U= = S el shated

e YAt SWOEl

iy gfga (TH.9.TH. o

FHTAT TEhd™ el Ir=vignR

STl ), do9esh 9ed (TH, 8, 37, T

7for HY) =1 U oSk, AdshedHl Wi
(TeYFT/I89rT A16l) I 9T A

g9l UTdieh (n = 200) IieTfsd

I B, STSETIE TehTTeeh GHISEA
favatomn @ om|dr TE.dLUA. Grdl
RILATA.TH. 4.2 ATs. ATS TS
R2 = .65 nftr guRifsd R? = .63, #iea
F = 44.89, P < .001 3. @efw ‘s
T’ HEM THE. ¥ STed. L8 Tkl
.83 (.07), T = — 0.34 (.08), 3TT1H
42 (.06) 3o fersreraal = .23 (.08).
TfRTET0r (TRUFT 1 IS Shel ST HewHi

THAA 0 HIg) ol B

10
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16. The VIF measures : 16. S.3TA.TH. HIMA HAOA H 2
(A) Percentage of variance (A) TT Foed faeaeqE saard
explained
(B) TSR
(B) Heteroscedasticity
(C) Multicollinearity (C) HeelRTalEm e
(D) Residual standard error (D) SFafeTse A THR
17. Research concluded that SPM | 17. ¥kl ot wieel &l TH.9.TH.
cannot predict creativity but CCFT HSRieiae SfeTS 9% YeRd el Wy
does. This conclusion ignores : S AT el et o
(A) Linear dependence among Idle w2
predictors
(A) ISR EEHA T sTadfed
(B) Linear dependence of criterion
on predictors (B) staaiel qREd=l  STTSIehTeRid
(C) Heteroscedasticity of SPM SToITo
(D) Difference between R2 and (C) THY.TH. 9 TEhSILIgal
Adjusted R? —
JHSHe (D) R2 anfor gumifera R2 <09 W
18. The regression and residual degrees . . .
, 18. Tl AlSTHIE! W= ST STaferse qardt
of freedom for the entire model )
respectively are : d :
(A) 7 and 199 (A) 7 s 199
(B) 8 and 199 (B) 8 =i 199
(C) 9 and 198 (C) 9 e7for 198
(D) 8 and 191 (D) 8 afur 191
11 [P.T.O.



19.

20.

21.

The adjusted R2 is an adjustment

in R for :

(A) Scale of measurement
(B) Increasing regressors
(C) Sample size

(D) Spearman’s R

In the above example, previous

participation in innovation training

is a :
(A) Categorical criterion variable
(B) Unsuitable variable in

regression due to categorical

nature

(®)

Dummy variable
(D)

Moderator variable

The significance of B value

indicates :

(A) Population beta is non-zero
(B) Population beta is high
(C) Sample beta is high

(D) Model has high AIC

19.

20.

21.
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AR R2 ® R 788 9IS GHESH
Iy ?

(A) HE= ot

(B) dTec SIS

(C) THT AR

(D) THIRHET 3N

U SETEXOMHE, Taeheq FIRTeTor He

i 984 & R ?

(A) Tfta e RRTed

(B) oFfa &I THILFA ATqLoTd

SRIt

(C) =Ht uferdien

(D) HAfeieX gfeds
o Hoard Wiefehar gfad od &l

(A) SHEE el SR 3T

(B) dhE&AT e =9 3R

(C) 7 &ffer 3= 3R

(D) Hied S=0 T.eE.Hl. 1%

12
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22. TItem bias in the test can be studied | 22. ==HY f9u™ tﬁ‘:l’&"l?l'[ 319 qES
by comparing : qeTl ShEA ehell STl :

(I) Item difficulty level across @D fﬂ?qﬁﬁfw TS H*;Lsiqflm
different groups with different foer whfeva g,
backgrounds. )

(I1) =m=ofiediel §F T JOEdis

(II) Average performance of two

H
groups on overall test.
et

Codes :

A) ®Ea (1

(A) (D) only (A) g (D)

(B) (II) only (B) w1 (ID

(C) Both (I) and (IT) (©) (@ s (D) <Fer

(D) Neither (I) nor (II) (D) (D) snfor (II) <r=rer et

23. To increase the overall difficulty | 23. ===l THU FHIfSTHUIC AT
level of the test which of the B SI0d f9eE gTem=sas
following items could be added in the T TR S WS Ty 2
test on the priority basis ?
(A) P = 0.12 39 faum

(A) An item with P = 0.12
(B) P = 0.45 &It faum

(B) An item with P = 0.45
: : (C) P = 0.20 38Tt faem

(C) An item with P = 0.20
(D) An item with P = 0.87 (D) P = 0.87 et e

13 [P.T.O.



24.

25.

26.

During depolarization the mem-

brane opens :

(A) Sodium gates
(B) Potassium gates
(C) Chlorine gates
(D) Calcium gates

The Genain quadruplets are known

because :

(A) all became artists

(B) all developed schizophrenia
(C) all were conceived with IVF

(D) all died early

Sumit is asked to repeat what his
mother just told him. He says he
“forgot’ but in reality Sumit was not
paying attention to his mother at all.
This is an example of the

explanation of forgetting.
(A) Interference

(B) Memory trace

(C) Encoding failure

(D) Repression

24.

25.

26.

JUN - 13219/1I—A

fayetertom=an gfshdd, Teddiad & §R
ITEd

(A) sz
(B) drEferEH
(C) AR

(D) =feem

“T 918 (IR 91) Tt | 3T

ALY I

(A) wd foseR o

(B) gai1 el femgihien simen
(C) Tafen S STAL.RL.TH. gRoTel
(D) 98 &8M 99 aRa

qfaen foeame &1 o 3T 3T &

qifTact 7 egl ol Teomen | foeett, g

ITaehd : GIHA STIe 3Tgehe SfSTad

e 2 TeRdl. & ST
Tifa.

(A) =TI
(B) wfaem™
(C) Hehad 39S

(D) 3&Yg SHO

14
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27. The staircase method is a measure | 27. |UE Ugd & ﬂ?ﬂ'l&?ﬂ'lﬁ

) threshold. AT 3.

(A) Absolute (A) g

(B) Difference S RED

(C) Sensory (C) deIHh

(D) Estimate (D) SR

28. According to componential theory, in 908, weE fagi TR, iR et JRoren
addition to intrinsic task motivation,

which of the following represent & rfersh, TSRt stgfsreren it

components are essential for A T T Tt e 7

generation of creative responses ?

(A) domain skills, creativity (A) &AM R, G 9ThAl,
processes, intrinsic task S Fdt Wom snfor @
motivation and social
environment AT

(B) domain skills, cognitive (B) &1 ShIRTed, i3t Highan for
processes and social
environment AlHISIen AldldRY]

(C) domain  skills, curiosity (C) &= e, feraman ufshan, o7afieh
processes, intrinsic motivation
and psychological environment T SO AR SR

(D) knowledge, creativity processes, (D) T, TSieiiel gfman, srdies S
intrinsic motivation and social
environment aTfoT SIGUSEIRCIRIEER

15 [P.T.O.



29.

30.

Which of the following is correct
alternative for the “Assertion and

Reasoning” statements ?

Assertion (A) : Neither trait nor
type theory can explain total
personality.

Reason (R) : Personality is the
interactive product of individuality
and environment.

(A) (A) and (R) are both true and
(R) is the correct explanation
for (A)

(A) and (R) are both true but
(R) the
explanation for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

is not correct

(®)
(D)

According to self-discrepancy theory,
self-regulation is directed by, ‘self-
guides’ which involves comparison
between

Ought self, perceived self and
ideal self

(B) Perceived self, social self and
real self
(C) Real self, ideal self and

perceived self

(D) Actual self, ideal self and ought

self

29.

30.

JUN - 13219/1I—A

faum suftr wRO faum@ERET Wit
S I RV AT ?

faeam (A) : 7o fome fgia feren vt
g SR Sl R TR

%% Yhd TR,

FHIOT (R) : A~ § SHAfSRaTaan 21for

(A) (A) 3T (R) & Tl sRIsR 3Tad
o (R) § (A) = Ig TR0
3T

(B) (A) 3T (R) § Tl sRIeR 3Ted
anfor (R) ® (A) = A9 TIeiehn
BN

(C) (A) TR 3¢ g (R) § I 3T
D) (A) T 3R T (R) B s 318

T Bd STEdl.

(A) 3feed @, gafed @ oAfir o1est @

(B) Hafga @, wmifSies @ 31for arsd
o

(C) d9rda @, eet & o1for wafed @
(D) Tgel T, 3Tey & 3y 3fesa &=

16
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31. Delegative leadership style is | 31. SR g Hvam= g i & fagma:
typically characterized by ............. 1 e Sfyrseayel o
(A) Power handed over to followers, (A) ST AR e /et aigs]
yet leaders take responsibility TRl HdlEresl Jd SaeRRl Bd
for the group’s actions THdId
(B) Leader monitors closely to (B) 7d frem, foren enfor arfaifees
enforce rules, give rewards and QUTTS! Shicasil li\chh AT
punishments [RELERCAGIN
(C) Leader convinces followers to (C) Aq = Heddl = STIARMA
buy into their ideas TR HiA U YET
(D) Leader supervises and exerts (D) qui =T Q@ STfor o
complete control AU hTH A R
32. The following has not been | 32. Teihed Yl & ATAH Teflel Fgeier
researched as a parenting style : RHICE RIS T
(A) Authoritarian (A) SATRRETET
(B) Permissive (B) SERel
(C) Authoritative (C) stferenrt
(D) Punitive (D) feram qom
33. Chronic stress increase is associated | 33. Idl UM o g RIKIILSIR]
with : qrg=dia 3T
(A) Hypertension (A) 3far
(B) Type-1 diabetes (B) UhR-1 S
(C) Type-2 diabetes (C) UhR-2 S
(D) Coronary Heart Disease (CHD) (D) SR TR (H.T=HEL)
17 [P.T.O.



34.

35.

Prejudice and discrimination persist
because they promote ................ says
functionalists.

(A) Dignity

(B) Social stability
(C) Harmony

(D) Self-enhancement

Match List-I with List-II and select
the correct answer using codes given
below :

List I
(P) Shahada
(Q) Salah/Salat
(R) Zakat
(S) Siyam/Sawn
List II
(1) Charity
(2) Prayer
(3) Fasting
(4) Faith
Codes :

P) Q@ @® ()
A & 1 @ @)
B @ @ G @
e @ @ @O B
D @O B @ @

JUN - 13219/1I—A

34. TEUT oMU 9@ femd TRA@ wRW

qrel Idl hida o9
FrdR] TRUM.

(A) A=
(B) qmifster &

(C) gHarR
(D) W-GaLA

35. IRi-1 707 AEH-11 A= vt 4. Jerd

%iq:)dlt{l dqY shed I I 9l ¢
qrar-1

(P) T@IcT

(Q) Heg/HeaTd

(R) =h1d

(S) THam/&H
arer-11

(1) <™

(2) wed

(3) U™

4) #5, fagem™

Hehdlah :

P Q@ @® (©)
Aa & @O @ @
B 2 @ G @
< @ @2 @O O
D @O B @ @

18



36.

37.

Which of the following is/are source/s
of error variation in the test-retest

reliability study ?

(I) Temporal stability
(II) Content of the test
(ITI) Individual variation
(IV) Test administrator
Codes :

(A) (D only

(B) (II) only

(C) (I) and (II) only
(D) (III) and (IV) only

Item characteristic curve theory

(ICC) is also known as :

(A) Latent trait theory

(B) Multidimensional trait theory
(C) Test Standardization theory

(D) Construct validation theory

JUN - 13219/1I—A

36. AEUI-YAA=0 fovaaaar A

T YU SH hI0G 2
(I) wifcten TR

(I1) =T=oi=n TR

(I1D) Safraer g
(IV) ==l Jemeeh
Hehdich

(A) wF (D)

(B) ®a (ID)

(C) we () enfor (ID)

(D) % (IID) i (IV)

37. foum favvan o fag@ =1 @M ga

SAesEre Sl

(A) g@ o Tagid

(B) gewt Tuifes fagm
(C) =m=vit gHAmiR faga

(D) H= dufaeto fagid

19
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38.

39.

40.

Choose the correct statement with
respect to sense of hearing :

(1)

Pitch and loudness are the
same.

(2)

Frequency is measured in
hertz.

(3) to

Intensity corresponds
loudness exactly.

(4)

Amplitude is measured in
decibels.

(2) and (4) only

(3) and (4) only

(C) (1), (3) and (4) only
(D) (1), (2), (3) and (4)

When simple and symmetric forms
are seen more easily than more
complicated and asymmetric forms.
This law is known as

(A)
(B)

(A) Law of closure

(B) Law of common fate
(C) Law of Pragnanz
(D) Law of Similarity

............... theory stated that high
arousal leads to greater selectivity
and is thus beneficial only when
relatively few cues have to be
monitored.

(A) Cue-initiation
(B) Cue-processing
(C) Cue-utilization

(D) Cue-completion

38.

39.

40.

JUN - 13219/1I—A

AU SEdId hIoTdl amed el
Aea ?

(1)
(2)
3)
(4)
(A)

T 9 eafHEdl ThE STHdT.
IRATRAT BESEEA HIeA S
fiordl & &gl qardd S[eadrd
AR Sfaeemed Ade Sl
TRt (2) 3TOT (4)

(B) ®ad (3) =TT (4)

(C) ®E (1), (3) 3T (4)

D) (1), (2), (3) 3ftT (4)
Stegl T 0T TR SRR STHHHITgeT

T GgsTqul Uifecd SITdrd, deel 8 faH
.............. I-SUL"I 1|U|Q"|| \T“Cﬁ,

(A) ifega=n frm
(B) 9= <& M
(C) sredmsicren faH
(D) FAMd=n =4

o M o N
fagrd 318 gfqures &l
%I I=9 STRU § 953 fHagshdes d
e Siegl o gl Fehara e

FUTD TG B doald o HIERY
3.

(A) ¥ha TR
(B) Hehd Hisha
(C) Fohd AR

(D) Foha Yol

20



41.

42.

According to which of the following
theories is creativity seen as a

‘precondition to intelligence’ :

(A) Guilford’s theory of Creative

processing

(B) Gardener’s theory of Multiple

intelligence

(C) Sternberg and Lubart’s

Investment theory

(D) Cox’s theory of Creativity and

Intelligence

Which of the following statements
is not true about Goleman’s

intelligence theory ?

(A) Identifying emotions at a non-

verbal level

(B) Regulating emotions to
manipulate others

(C) Understanding conveyed
emotions are actions they
generate

(D) Using emotions to guide

cognitive thinking

41.

42.

JUN - 13219/1I—A

TEAeTdeh! HIve FIGTATTaR Fsteterd

‘gigawel eere’ WA Wiieel Sd ?

(A) frawre=l foufes wfwma=n fagm@

(B) sgfay Jfgaw=n meT=n faga

(C) Tt smftr Fare= e fagia

(D) i Feieierdn S0 FigHw A

fagma

= G gt Setietish!
Fo faum ¥ T ?

(A) 3WMfsgeh TR 9EA]

(B) TEAM TG0 0TS e

IERLE T

(C) HiffTdeiean STeHT THST0! TEUTS! A1
Heled FHard o FH

(D) SUTcHe: Ta=amT ANie s HIuaHIa!

areq=l SYAM 0

21
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43.

44.

The potentiality of any behaviour’s
occurring in any situation as
calculated in relation to any set of

reinforcement is called as :
(A) Psychological situation
(B) Reinforcement value
(C) Behaviour potential
(D) Expectancy

According to Eysenck, Personality

differences arise mostly from :

(1) Environmental differences

(2) Biological differences

(3) Social and cultural differences
Codes :

(A) (1) only

(B) (1) and (3) only

(C) (2) only

(D) (2) and (3) only

43.

44.

JUN - 13219/1I—A

HIVITE] TAATRIOT=AT =T FoeTd

R ot URfEyda sgd o

HIUTEl el aYedT U

(A) HFfEsh qRfeert

(B) Yercilshiol oo
(C) ad favea

(D) STU&IEEeR

TR =AT HATTAR, SAfRAETde =Tl
e

(1) vaAferuTeHes fo=ta

(2) e fiea

(3) WIS oTifoT Arapfaes fa=an
Hehdich

(A) & (1)

(B) ek (1) =Tfur (3)

(C) ®x (2)

(D) e (2) 3T (3)

22
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45. Which is/are the function/s of | 45. eIl & vl ed ?
i ? fa a
emotions (1) HAMIMHE HdMEEl TIR hIdd.
(1) Preparing us for action. N
P 8 (2) A9 9:|'|_°ﬁ' Adld FHlen Ul endld.
(2) Shaping our future behaviour. o
(3) ATUUMH sAUEIEY l‘Ir{Ul|"I<=|')|{<=|')
(3) Helping us interact more ..
SHldAshdl h{U[d HQd <hidld.
effectively with others.
Hehdich :
Codes :
(A) (1) and (2) @) @) @)
(B) (2) and (3) (B) (2) efur (3)
(C) (1), (2) and (3) (C) (1), (2) = (3)
(D) (1) and (3) D) (1) 37 (3)

46. oo 1s a strategy for making | 46 woa-ggm TR 790 faran
social judgements based on the Tz MEYHT YHIONG STERE ST
extent to which current stimuti or it fyofg <@t fmton s
events resemble other stimuli. | e Y .

(A) Prototype (A) sTfesyq
(B) Representativeness Heuristics (B) TmmHT gfafqfae
(C) Attribution (C) Ta TUrafeTSe
(D) Availability Heuristics (D) -EH TS
23 [P.T.O.
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47. The psychological term used for the | 47. fo939e UgEMT A YHAHTAT o @l

TITUgTeAT eneifaTE g Srfeudt
TRITA, AT AFERTSE 9o STy
e :

(A) Yo 3ATdTEA

(B) iR emenfia sTared

(C) "MHfesh 9ras]

advertisement shown during movie
breaks on hazards and risk of
smoking and chewing tobacco

(A) Public appeals

(B) Fear appeals

(C) Public awareness

(D) Social awareness (D) WIS HHESG!

48. Jerome Bruner gave the concept | 48. UM TN &M & Heheddl Higal :

of : (A) srenfars fagr

(A) Cognitivist theory (B) Hordr Tagmd

(B) Attachment theory (C) Tme] HaY ST ( Sfesiae e
(C) Object relations approach 39T

(D) Universal grammar (D) af¥esh =R

ETeta qaifasdl & Feaeel &t
AfkaH fasdl 3Ted

49. The following are cluster B | 49.
personality disorders :

D

(1) Schizotypal (1) fersfcTa
(2) Borderline (2) dwreTamsd
(3) Histrionic (3) fefegaifren
(4) Antisocial (4) TR
Codes : Hehdiah :

(A) (1) and (2) only

(B) (1), (2) and (3) only
(C) (2), (3) and (4) only
D) (1), (2), (3) and (4)

(A) e (1) 37foT (2)

(B) ®K (1), (2) 271 (3)
(C) W (2), (3) M1 (4)
D) (1), (2), (3) 271 (4)
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50. STETARR G A1 ML Ieeie hid

50. Post-traumatic growth refers to :
(A) Negative outcomes arising from (&) LA ¢
: : oot faior 8
traumatic experiences
(B) smeErdR amr foepdt (dE T Et)
(B) Negative outcomes characterize PN
qA ehRIcHe  fsasit Sf¥Tsesrguf
from PTSD A
(C) Positive outcomes arising from (C) TS AIVATA THFRIHS
traumatic experiences o=t o €
(D) Positive outcomes arising from (D) == AMeAiqd Hehricaess HfHad
character strength Bl
51. According to Islam ‘Shahada’ | 51, TmIER ‘TEERI' WS :
means :
(A) Wi
(A) Prayer
(B) Charity (B) <m
(C) Faith (C) fogemm
(D) Fasting (D) U™
5%/ is a perspective which 592. qrqﬁ%ﬂa; 3t|TFUT WW QW
believes that a great deal of human aet Seg ’HIST] YHOeR STfdaTd
life exists as it does due to social and 3 I fawamg o= (‘arbdchh-uqﬂ
interpersonal influence. @~ | e I U,
(A) Social communism (A) FHIfSTh R Faumelt
(B) Social attitude (B) wmHifSeh  3tfyed
(C) Social constructionism (C) | HTEER
(D) Social development (D) @SR ok
25 [P.T.O.



53.

54.

In experimental designs randomiza-
tion of subjects achieves which one

of the following ?

(A) Distribution of subjects in all

the conditions
(B) Control on unwanted variance
(C) Control Type-I error
(D) Economy in sample size

What is/are true about grade

equivalent norms ?

(I) It is an average performance of

students from a grade.

(IT) It is commonly used as norms

for ability tests.

(IIT) It is commonly used as norms

for achievement tests.
Codes :
(A) (I) only
(B) (II) only
(C) (I) and (ID

(D) () and (III)

53.

54.

JUN - 13219/1I—A

g RTEEAT agfees Tgd

T fAUTTON Shea Weieeh! s
e el S ?

(A) §d TemeE yErEn favmme ga

(B) 3oz weRomer fe=mn

(C) YhR-I YARER =0

(D) THEEA =

AU FHA] HFRITISRN h1d SO

e ?

D) wH zmdHa faeneafa et
FAed U Hh B

(II) |Ha: &Hal =revdmediel A
A HIl

(IIDT HH=I90 FOGA =r=odre A

U AT
Hehdieh

A) ®wx (D)

(B) ®w (1D
(C) (I) smfor (II)
(D) (1) emfor (11D

26



JUN - 13219/1I—A

55. Which of the following is the | 55 UFEITSE 9= @eicis] HIod
most appropriate description of a
: U gt 9 R ?
psychological test ?
(A) It is a self report measure (A) HE-Ixr= HUA A
(B) It is a measure of conscious . N
(B) Halg adAra HIYA Sdmd
behaviour
(C) It is a measure of sample of (C) T a4 THA HIGH A
behaviour
(D) ScHT=AT TRl T IO A
(D) It is a standardized measure of
a sample of behaviour UIN
56. The vagus nerve does not handle | 56, ywur =1 & o3 Bdesa & :
this function :
(A) ==
(A) Taste
(B) w@eeR fes
(B) Laryngeal control
(C) Neck sensation ©
(D) Hearing D) e
57. Mild cognitive impairment is a stage | 57. W=t shufier @ &1 SrereAl AEie 2o
between : TSl Sl
(A) Borderline IQ and mild MR (A) Hrmmedt g5t 9 9= Afquee
(B) Clear and clouded sensorium (B) < 9 3R dgd
(C) Normal aging and dementia (C) JHMIT IIHM o TaHTEh
(D) Delirium and dementia (D) yifa 9 ARl
27 [P.T.O.



59.

60.

is the science of the life

giving substance.

(A) Existential phenomenology
(B) Philosophy

(C) Spirituality

(D) Anthropology

Level of significance (alpha) is :
(A) Probability of type I error
(B) Probability of type II error
(C) 1-(Probability of type I error)
(D) 1-(Probability of type II error)
The outermost layer of the meninges
is :

(A) Pia mater

(B) Arachnoid layer

(C) Skull

(D) Dura mater

58.

60.

JUN - 13219/11—A
STeFe™ 0T TS ST Shium

(A) IfEaR! gIEER
(B) o™
(C) STeATHaRT

(D) AR

YhR 1 THRET HHeHdl

yhR 11 YHET Gread

(C) 1-(YhR 1 YHET=N FHTSHd)

(D) 1-(YhR I FHEET FYTeId)

YRR MYeh! Hald eTedd TR0 3
T

(A) Hg 3TeRu
(B) SIId 3Tmeon
(C) &at

(D) 3@ 3R

28



61. Match column-I and column-II using

the codes given below :

(P)
Q
(R)

(S)

(1)
(2)
3)
4)

List I
(Concepts)
Structuralism
Functionalism
Transpersonalism
Co-operative inquiry
List II
(Theorists)
John Heron
Wilhem Wundt
William James

Abraham Maslow

Codes :

(A)
(B)
(©)

(D)

P Q ® O
@ 8 @ @
L @ @ @
@ @ @O @
4 O @ @

JUN - 13219/1I—A

61. Wl fooicdn Hahdienrn SYAN e

wWY-1 i WY-11 Hefid Sl o ¢
wWY-1
(FReT)
(P) HEAER
(Q) wrER
(R) HAfRIE TMIM
(S) WeshmERiel =rehel
-1
(fagiaar)
(1) S fR|
(2) faeaq que
(3) faferaw s
(4) oTEH Hedl
Hehdich
P) Q@ @R ©
A @2 6 @ @
B O @ 6 @
< & @ @O @
D @ @O @ O
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62. Which of the alternatives is correct

for the statements of Assertion and

Reason ?
Assertion (A) Charmaz
constructionist approach to

grounded theory is similar to

discovery model of grounded theory.

Reason (R) : Social constructionist
approach believes that concepts are
constructed and ‘why’ questions can
be answered while preserving the

complexity of social life.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

62.

JUN - 13219/1I—A

‘“fauma sifor &RO’ I Gewldra

@Ak Il T se 378 ?

faam (A) : TvEyfi@E gt ==

o feshM 81 IRe il fagmar=n

MY TEIERET 3R,

®IUT (R) : SIS =S gfeehid

3 HEA ki GhoUdl B Uad ST

fOT ‘oR1’ STRT YAl Ul SR

o~

gl

qrTrSTeh TSerTe forersedt |iHTesT

SIS Rehdld.

K3 K3
-
-

(A) (A) 7for (R) B St 9T 3Ted S1foT

(R) ® (A) = I TOCRT ..

(B) (A) 2Tf7 (R) B &l 93 3Ted W

(R) % (A) 9 a9 TI=Ih{ul M@l
(C) (A) ¥ &R WJ (R) 3T9& 3T

(D) (A) 3HA 38 Wy (R) ¥A 3R

30
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63. Stanine scores are used for the | g3 TATE YTiah & RIS
interpretation of .......... §
(A) Interindividual differences
o (A) SATRaafRTS fa=Ta
(B) Developmental changes within
an individual (B) SHKIdiel JehlfEeh s
(C) Normative scores of personality e o —— s .
test only
Therd
(D) Individual differences in ability
test only (D) &THaT STAUIel AT T e
test which of the following could be TeietE B S e 2
appropriate ?
(A) =r=vii-gHareon fogaetean
(A) Test-retest reliability
B) T favasiaad
(B) Alpha reliability (B) &
(C) Alternate form reliability (C) e forarerorT
(D) Correlating the test with (D) =reoien gE=a1 =reviell wEdsy
another test NG|
65. Sagittal view of the brain means : | g5, Heal oWiyd gfesH WU
(A) The brain bisected into right (A) ﬁcﬁ Sore STl I TS
and left
(B) #ga1 USRI GiedH
(B) The brain viewed from behind
(C) The brain seen from the front (C) HGET &= SIS qieetell S
(D) The brain seen from above (D) HgEN oA difeeiell giteshi
31 [P.T.O.



66.

67.

Psychopathology involving
executive function can be localized
in the :

(A) Occipital lobe
(B) Frontal lobe
(C) Parietal lobe
(D) Temporal lobe

Match List-I with List-II and select
the correct answer using the codes
given below :

List-I
(Midbrain Structure)
(P) Superior colliculi
Q)
(R)
(S) Ventral tegmentum
List-I1

(Function)

Inferior colliculi

Substantia nigra

(1)

Guide eye movement and gaze
fixation

(2)
3)

Integrates movement.

Rewarding effect of food, sex,
drugs.

(4) Localize sound direction
Codes :

(P)
(A) (2)
(B) 3)
C) @)

D) @

(R)
4)
(1)
3)
(2)

(S)
(1)
(4)
(2)
3)

Q
3)
(2)
(1)
(4)

66.

67.
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o e Ne faY

t forarean Hfaehdi=n Hes 39 feerg

CapED
AR
(A) TEEE
(B) @S
(C) sHTe
(D) HYES
IR ST AEI-11 Aefe e e

et fedtedn Hehdiehm=l ST hEd
FgH I Hae &wU

rat-1
(qeAHg |IE)

(P) = v

(Q f7=1 =

(R) ¥9HA s

(S) se{ig ey
aret-11
(foram)

(1) 9 s 9 R arefyia
A

(2) TETEEE ThHATHL
(8) T, A et 9 TR wiawa
(4) s fegmn |

Hehdich :

P) Q@ @R ()
A 2 B @ @
B & @ @O @
¢ @ @O G (@)
O O @ @2 O3

32



JUN - 13219/1I—A

68. Match the following Theory | 68. T-I 3Tfu1 TH-II AT S0l Y. Jeidd
(Column-I) with Theorist (Column-IT) TehdiehTal IR HEd Irg I ol :
and select the correct answer using .
the codes given below : WA

Column-I (g
(Theory) (P) Tesw 5T
(P) Filter theory (Q Fadid wr fagia
(Q) Perceptual load theory (R) aferse wansiianmr fagia
(R) Feature integration theory (S) T omfor TogA faga
(S) Culture and perception theory wWY-11
Column-II (Fagiaerm)
(Theorist) (1) sfes=
(1) Broadbent 2) o=
(2) Lavie (3) feawa o7for frare
(3) Treisman and Gelade @) f=e freae
(4) Richard Nisbett T
Codes :
P) Q@ @® ()
® @) Aa @O @ G @
Aa o @ & @ ® @ @ @ O
B & @ @ @
© @ 3 @O (@ e @ 3 O @

69. Signal detection method can be 69. TR T5d E'Q'aﬂﬂ@im@@
applied only when the distribution e faaeor g T4
stimuli is ............... .

(A) FHIH
(A) Equal )
(B) Unequal (B)
(C) Overlapping (C) s
(D) Separate (D) @A
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70.

71.

Which of the following is the correct
sequence of the three processing
stages of information processing
model ?

(A) Perception, decision-making
and response selection, response
programming and execution

(B) Decision-making and response
selection, response progra-

mming  and execution,
perception
(C) Perception, response

programming and execution,
decision-making and response
selection

(D) Decision-making and response
selection, response progra-
mming and execution, per-
ception

“An idea is creative for a particular
person if that person could not have
had that idea before”, this account
of creativity falls in line with which
of the following theories :

(A)

Guilford’s Deterministic theory
of creativity

(B)

Amabile’s Componential theory
of creativity

(C) Wallace’s Individualistic theory

of creativity

(D) Boden’s impossibility theory of

creativity

70.

71.
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et feoiean Aifedt gfshan grear=an diH
giehal AT AT U ATdl

(A) gogA, ot wfswen snfon staforen
fere, ergfsran ufshan s smfur
ST

fofta gfsean et ergfepen fare,
STfoRa Uik Fre ST 3T~

S0, FAEA

(B)

Tagd, Ufear Ao enfor STHa-
sstervtt, ot wfshan smfor stfhan
fere

fofa gfsean et e1gfepen fare,
STfshen Ufshan e aTfoT THa-

(®)

(D)

ST, HogH

“SRfR Tt ge el TE@ W TEmEn

RIS TEIR! ThedAl Feieiiel 3 d ',

¥ goleiieiael U WTefieTiehl hToTe

fagiarett e oM ?

(A) FrerRE= wseiedan faRomes
ESEAR

(B) Tafoc geHeica=n s faga

(C) JerE= Fsieiera=n safeae fagra

(D) SE= SAeieia=n sTEYaar fagid
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72.

73.

Which among the following brain

areas is/are related to creativity ?
(I) Angular gyrus

(IT) Frontal lobe

(III) Fusiform gyrus.

Codes :

(A) Only (II)

(B) Both (I) and (II)

(C) Both (I) and (III)

(D) All (), (II) and (III)

Choose the correct sequence of

communication process :
(1) Sender

(2) Encoding

(3) Receiver

(4) Channel

Codes :

A (1), 2), @), (3)

B) (1), (3), (4), (2)

©) (1), 4), (2), (3

D) (1), 2), (3), (4)

JUN - 13219/1I—A

[N a AN AN N
72. GSTRIATHE EleTeTdeh] Agdl enlYidl

O TefYd g ?
(I) =g gafa

(II) smrEe

(IIT) RAYTT HIR SATRR= Fafe
Hehdich

(A) W (1D

(B) e (I) 7o (ID)

(C) e (I) swfor (I0D)

(D) @& (I), D) enfor (I10)

73. FUSO UfhIEl T A e :

(1) 9w

(2) HeheH

(3) TR

(4) =

Hehdich

(A) (1), (2), 4), (3)
(B) (1), (3), 4), (2)
©) (1), @), 2), 3)
D) 1), (2), (3), (4)
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74. Match List-I with List-IT and select

the correct answer using the codes

given below :
List I
(Name of disorder or
Syndrome)
(P) Asperger’s disorder
@
(R)

Down’s syndrome
Fragile X syndrome
(S) Turner’s syndrome
List II
(Description)

(1) Genetic condition affecting

males causing cognitive

impairment
(2) Trisomy 21 causing MR

(3) Chromosomal condition

affecting females
(4) Difficulty in social interaction
Codes :
P) @ [® O
A @ @O @ @
B @2 6 @ @
< @ @ @© O
O O @ Q@ @

JUN - 13219/1I—A

74, A1 S0 A1 A St e

el feeiedn Fehdrdn ST Hed 31w
IHET IS T

arer-1
(forgeti=l/HeAeToT=l 1)
(P) Test ot
(Q) T HaALw
(R) %S5l & Haia
(S) = HaEm
ret-11
(Ut )

(1) q&oma e SHeh fasdl,
e Afger o™ 9 faemam facta
Bl

(2) fedrft 21 g AfqHeE I

(3) o st ughes et

(4) HEISER SRR TS
Hehdih :
® @
A & @O @ @
B @ & @ @
< @ @2 @O O
O O @ @ @

R)  (S)
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75.

76.

77.

78.

“Automatic thoughts” is a term used
in :

(A) DBT

(B) Hypnotherapy

(C) CBT

(D) Vipassana

In India which is the most common

means of cyber bullying

(A) Phone call

(B) Computer

(C) E-mails

(D) Hand written notes
Who investigated X-ray ?
(A) Wilhelm Roentgen
(B) Merry Annoring

(C) John Baim

(D) William Harney

Symptom of an autistic child is

(A) Hyperactive
(B) Aggressive
(C) Lack of eye contact

(D) Low vision

75.

76.

77.

78.
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 arferfess gie’’, (ORI IUR fo=mr)

B U Wl SUERUSdd feesd
(A) Sraen.

(B) fesliandt (@Hed ST=R)

(C) Haa.

(D) fagerm

TRATT IO R [SARI AR H1EH
e ?

TF HId

LSRED

BRG]

BTt faqur
fortom=n ey =rofl erEen ?
[ESIEICEIR]

T AR

(A)
(B)
(®)
(D)
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79.

80.

81.

In which method of decision-making
an option that does not meet the
criterion is eliminated from being
possibility ?

(A) Elimination by probability
(B) Elimination by aspects
(C) Elimination by rationality
(D) Elimination by criteria

Which one of the following methods
is the best estimate of Pearson’s
correlation between residential
status (urban and rural) and
attitude towards higher education
measured by a 20-item Likert
scale ?

(A) Point biserial
(B) Biserial

(C) Tetrachoric
(D) Phi

Which among the following subtests
are not the part of WAIS IV ?

(1) Visual puzzles

(2) Figure weights

(3) Picture arrangement
(4) Object assembly
Codes :

(A) Both (1) and (3) only
(B) (2) and (3) only

(C) (3) and (4) only

(D) (1) and (4) only

79.
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81.
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froiar wfsra=an o gt s v ey
qof {d A ST gwre qAtErHYA
IeSAT Sl 2

(A) T A HIO
(B) SfehMT T &0
(C) difershad T2 I
(D) TFhA T2 HI0

WeATeAdeh! IO Toh Jgd o) gsi
(3redt efor aretor) enfor S=u fenerom=h
e (S Ao 20-faem aeRe
il TG el 3T8) arHeial fusRam
TEGaY™ SUH N TR ?

(A) fog fggmoft

(B) fgaf

(C) Igehieeeh

D) ®=

EATeTdeh! ShIoTedT =r=rva WAIS-IV =1
ST AR 2

(1) foseta qeeH
(2) fFR g

(3) fu=1 wiewh

(4) & vt
Hehdleh

(A) & (1) 3TfoT (3)
(B) ® (2) 701 (3)
(C) W (3) 30T (4)
D) ®H (1) A (4)
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82. Situational tests are basically a | 82. uRf¥erdis=1 Ir=rvan &N Heid: a1 &
measure of ................ behaviour. HMYT hIdld
(A) Sub-conscious (A) STEfaTETEEn
(B) Unconscious (B) STaremaEen
(C) Self-report of conflict (C) gudie @-31fyur™
(D) Problem solving (D) T Ut
83. Processing that begins with the | 83. Wifgdiee g&aTd VIR Ufshall STt <o
information reviewed by the ZIRIgR GATeelehid hall SITd AT
receptors is called ....occovveeeeee. | T ¥ FUTAT.
(A) Neural processing (A) FoSTEESEsEl ik
(B) Bottom-up processing (B) sted wfshan
(C) Perceptual processing (C) Hadtd wichan
(D) Top-down processing (D) Sed Hfsha
84. Which of the following is not an | 84. Wcliciysh! HIV Teh & AT FaIG-
example of Hull’s drive-reduction e WO TS SeE AR 2
theory of motivation ?
(A) When motivation arises as a (A) A
result of biological needs red
(B) When body actively works to (B) Siegl IR hTgl THAIA STaeel
maintain a certain state of I
balance
(C) When human behaviour is (C) Sisgl HHa aa & Hekd AR
motivated only due to eHhHes URa B
psychological factors - n" n . o
(D) Siegl HFdl IRR ATANS Yided
(D) When human body monitors
man 2ot e 9 fm e
and maintains internal states
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86.

fallacy occurs when it is
assumed that specific conditions are
more probable than a single general

one.
(A) Conjunction
(B) Sunk-cost
(C) Gambler’s

(D) Golden mean

Each of Freud’s stages of personality
development centre around an
important task that requires
resolution. Failure to do this can

lead to :

(1) Fixation

(2) Castration anxiety
(3) a psychosis
Codes :

(A) (1) only

(B) (2) and (3) only
(C) (1) and (3) only

(D) (1), (2) and (3)

85.

86.
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TR Tehrgen fafime gffeerd &
ifeer T STHa 3T Siegl TRId
ST Fehl=l hodHl

hESedl Aot fashar=ar s
LT hgEAMHI HEweT 1Y 3TEd i
ST 3T T TS ST, T ST
A W Yoo T -

(1) e

(2) faar T

(3) gHAERA

Hehdieh

(A) ®e (1)

(B) ®K (2) &nfo1 (3)
(C) ®ei (1) emfor (3)

D) (1), (2) 2for (3)
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87.

88.

89.

Which of the following alternatives
is true for the statements of
Assertion and Reasoning ?

Assertion (A) : Kin selection theory
suggests that key goal of all
organisms is getting our genes into
next generation.

Reason (R) : Biological altruism
helps in survival of species.

(A) (A) and (R) are both true but
(R) is the correct reason for (A)

(A) and (R) both are true but
(R) is not the correct reason
for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

()
(D)

The first pioneering experiment in
the field of social psychology was
conducted on

(A) Attitude change
(B) Social facilitation
(C) Social identity

(D) Group behaviour

Noam Chomsky gave the concept
of :

(A) Attachment theory
(B) Object relations approach
(C) Universal grammar

(D) Cognitivist theory

87.

88.

89.
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faum anfor swror =1 Gevidier s wata
TR 3G ?

faam (A) : o< Fae fag@ 1@ gfea
FH I Fd Sare &A1 § Y@
fdmed oyal S9 drefaul 7 ST

FHRUT (R) : USIC=a SO0ImEed Sifeeh

Rfgag< Aed hd.

Hehdieh :

(A) (A) T (R) S8t e 3Ared W
(R) ® (A) WIS g SR TR

(B) (A) iU (R) S=IEl e 37ed g
(R) ® (A) HIEH 3Tk R0 ARl

(C) (A) & ¥ a8 W (R) T 39A
3T

(D) (A) & 3T 3 W (R) T IA
3

TraTeleh AAERTETHEE T0E Y9N &1
) S

(A) STfyeht siea

(B) 9HIfSeh FehiIehI

(C) wHIfSIeh AIQTe

(D) T oA

(A)
(B)

o fagia (sd=de fod)

o] HaY UM ( 3Tesiee. Rererd
9T)

Sfyaes SR

Aurferer fagid

(®)
(D)
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90.

91.

92.

The
symptoms of schizophrenia :

(1) Thought broadcast

(2) Thought insertion

(3) Alogia

(4) Anhedonia

Codes :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (1), (3) and (4) only

(D) (2), (3) and (4) only

When a HIV patient does not report

following are negative

in a particular period, this period is
known as
(A) Window period

(B) Door period

(C) Later period

(D) Initial period

Which of the following is false if
Wallach and Kogan’s study on

Intelligence and Creativity among

children ?

(A) High creativity-high intelli-
gence children were socially
most “healthy”

(B) Low creativity-high intelligence
children were wunlikely to
engage in disruptive activities

(C) High creativity-low intelligence
children were wunable to
concentrate

(D) Low creativity-low intelligence
are socially awkward and often
distressed

90.
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92.
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o

e far & formnael o
3MRd

(1) foemm=n w=R

(2) fo=m= sy

(8) WAl

(4) TIREI

Hehdich :

(A) ®E (1) 301 (2)

(B) WKl (3) U1 (4)

(C) W (1), (3) =71 (4)

(D) &K (2), (3) M (4)

fafere Femadme Sl T3S T
3T WX Hd AATel degl <l ShicTae]

=

(A) TTemE hTeTEH
(B) AN Shicaet
(C) -a%=n Flcast
(D) WRFTEw Hread

e fGH S FSHieiee derd

0T R FTe SIS B TeTdeht

FE T AR ?

(A) 3I=9 qeRiad-3=a gfgaal qal
TSR Ferfq e

(B) &t HSRiGA-S=d FfgHal ol

foeeqait adaa o U8udTel
NERRINEEl

(C) I=a TeRiaId-shH! JfgHd gol A&
Higd HITATE e 3T

(D) hH FSHRITCAT—ehHT fGH HHISh-
O] STEAX ATV AISTIH STHAT
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93. Match List-I with List-II and give

your answer using the codes given
below :

List-I
(Type of Reasoning)
(P) Modus ponens

Q
(R)

Modus tollens

Denial of the antecedent

(S) Affirmation of the consequent
List II

(Example)

(1) The switch is not turned on;
therefore the fan is not running.

(2) The switch is turned on;
therefore the fan is running

(3) The fan is running; therefore
the switch is turned on

(4) The fan is
therefore the switch is not

not running;

turned on
Codes :

P @ ® O
Aa @ @ @ @
B @ @ @O O
< O @ B @
O @ @ @O @

JUN - 13219/1I—A

93. IEI-1 301 IET-11 == SIS ATl Tl

fededn Hehdishr=al ST F&Ed 3T
S 1

-1
(ATfehehd=l WehT)

(P) Hre® Wit

(Q Hied ety

(R) goerdfi=n R

(S) URvmMN STgHRA
11
(3<TET0)

(1) fe= = e 6, BE g

EISGREIE]

(2) o= =g deien TR, WA gen
aTeAd 3T

(3) wen =re e, WA fe= =
BN

(4) wen =red e, wE R =
Bl

'Fl%ﬁﬂ'l%l'? :
P) Q@ @R (S)

A 2 @ & @

B 2 @ @O O

<o o @ 3 @

D B @ QO @
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94.

95.

A young boy who was insulted by
a physically strong boy could not
retaliate but expressed his anger on
physically weaker boy. This is an
example of :

(A) Projection
(B) Sublimation
(C) Displacement
(D) Regression

Match List-I with List-II and select
the correct answer using codes given
below :

List I
(Techniques)
(P)
Q)
(R)
(S)

Transference

Word Association Test

Birth order analysis

Psychohistorical analysis

List II

(Psychologists)

Alfred Adler

Erik Erikson

Sigmund Freud

(1)
(2)
3)
4)
Codes :

P)
A) @)
(B) 3)
) @
(D) (2)

Carl Jung

(R)
(1)
(1)
(4)
3)

(S)
(2)
(2)
(4)
(4)

Q
3)
(4)
3)
(1)

94.

95.
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STRITehgsea Hael A THhT a0 ATl
3T Shell AT TE0 ol el Herre
ST 1’ A1 9SdN Seal B ¥eRd
TE T TRINegs gad Jaa I
R Al § A ISTE0 3R

(A) 9&Tu
(B) SSThIU
(C) fawemum
D) gt

-1 o 11 Armeiiet Siren e
9 Yeid Hichdlohl=AT SMER IW T ¢

IJrai-1
@)

(P) wrEmaRor
(Q) v we=d ==
(R) SH&H fageroo

(S) wHIUfaeTEe feorgeioor

arer-11
(ATE9TTER)
(1) Ths TSR
(2) s TR
(3) fave wEs
(4) wred I
Hehdich :
® @ ® ©
A @ Q) Q) (@)
B & @ Q) @
G o 6 @ @
@ 2 @O & @
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96. Match List-I with List-IT and select

the correct answer using codes given

below :
List I
(Theorists)
(P) Greenwald et. al

Q
(R)

Ajzen & Fishben
Newcomb & Heider
(S) Leon Festinger
List II

(Theories)
(1) Dissonance theory
(2) Implicit Association Test
(3) Theory of planned behaviour
(4) Balance theory
Codes :

P Q@ ® O
Aa @ B @O @
B @2 B @ @
o O @ @ 3
D & @O @ @

JUN - 13219/1I—A

96. Wil fooican Hahdieh=n YA e

IRI-1 37for AET-11 Aeftel et e :
-1
(fagider)
(P) Teree i1 Hewrd
(Q eI emfur fherer
(R) —g&rel a7for &ex
(S) fasia ®EfsR
e-11
(fagia)
(1) fordeme fagia

(2) oTFE HE=d ==l
(3) frfsa adaren fagia
(4) e fagrd
Hehdich
P) Q@ @® ()
A @ & @O @
B @ B @ @
< O @@ @ 3

M & O @ @
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97.

98.

Ram Kumar killed his daughter who
married a boy from another
community and had no remorse or
guilt for the same, as the marriage
was unacceptable, which brought
shame to his community. The
appropriate term to explain this

behaviour is

(A) Hostile aggression

(B) Instrumental aggression
(C) Cultural narcissism

(D) Cultures of honor

Make the correct sequence of the
four stages of Piaget’s cognitive
development theory :

(A) Concrete operations stage;
preoperational stage; sensori-
motor stage; formal operation
stage

(B) Sensorimotor stage; preopera-
tional stage; concrete operation

stage; formal operational stage

(C) Preoperational stage; concrete
operational stage; sensorimotor

stage; formal operational stage

(D)

Sensorimotor stage; formal

operation stage; concrete
operations stage; preoperational

stage

97.
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THHHR BT T GHAT AR AR

ATt foame hall; THRAR =T ST
FHAdl 3R AR 9 & A=l T
SRl SOOI 9o Fogdl; e
T 1 foaamg STEra Bl 9 A S
ATSIEIE ST Tl & Sd-redl 90T
3 Ay,

(A) ST oo gromt sTshHeRa

(B) €149k 3ATshHchdl

(C) Witpfas et stareen

(D) M G&Rdt

st == Srafre fasm fagiaren ar
qF= A SHHM el

(A) 7d fwan sEeen, wisfae fo=m

YRYTIELN, SRRk STawT, MATHeh
foRa afareen

ISTRR TN, Hihfaesh o=

YRS, 7o TRl sTaen, wieifheh
[ERIEEEES]

ST, IGThh T, WA
IERINEEI!

(B)

(®)

(D) dTThRE AT, WUHs fwan

foamR R

46



99. The following are sexual disorders :

(1) Frotteurism

(2) Vaginismus

(3) Eclampsia

(4) Erectile dysfunction
Codes :

(A) (2) and (4) only
(B) (1) and (4) only
(C) (1) (2) and (3) only

(D) (1), (2) and (4) only

100. A class of phenomena characterised

by patterns of positive adaptation in
the context of significant adversity

is known as :

(A) Positive youth development
(B) External adaptation

(C) Resilience

(D) Internal adaptation

99.

100.
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3R

Nda fa fa}

AfiTeh ferehdl

@eitel fashdt &
(1) wiafEm
(2) HSEHEEY
(3) wHeAEA

(4) Y feqmRm™
Hehdich

(A) e (2) AT (4)
(B) e (1) 2101 (4)
(C) we (1) (2) =71 (3)

D) ®F (1), (2) 370 (4)

AALIONT Ufaehel STl fehell STRerr=

Tl HehRIcHeh FfaisH= T
R R
(A) HhNIHE Tqevd foenrd

(B) &l wfreT

(C) feufaeemuesre

(D) AR HfarsT

47

[P.T.O.



JUN - 13219/1I—A

ROUGH WORK
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